Medical AC-DC Open Frame Power Supply
Enclosed Cover Kit for MDS-250A and MDS-300A series

B Assembly Notes

‘ Y Place the insulator over
the chassis as shown

Y Align the 4 holes of the insulator

to the chassis standoff z

% Place the power supply over the insulator as shown
% Align the 4 Mounting holes to the chassis standoff

% Secure 4 pan head screws ?
provided with in kit as shown

% The force of tighten the
screws is 3.5-4.8kgf.cm
(3.0-4.17inch-lbs)

* Place the cover over the power supply as shown
* Align the 4 U-bracket extruded holes of the cover to
the sink holes of the chassis

% Secure 4 countersink screws
provided with in kit as shown

% The force of tighten the
screws is 3.0-4.5kgf.cm

Materials: (2.6-3.9inch-Ibs)

A 1 Chassis

A 1 Cover

A 4 M3 x 0.5 x 5mm Pan head screws
A 4 M3 x 0.5 x 4mm countersunk screws
A 1 Plastic insulator sheet

Assembly Instructions and Notes:

1. Overall dimensions: 140.0mm (5.512 inch) x 88.9mm (3.5 inch) x 44.4mm (1.748 inch).
2. Ensure insulator is correctly fitted on base under PCB to maintain safety creepage and clearances.

3. When using this enclosure, ensure that relevant safety standards are complied with, in respect to creepage and
clearance distances, and distances through insulation.

4. All dimensions are in mm (inches).
5. There are two locations where assembled power supply is connected to the customer’s product(see page 2 for details):

a. Bottom mounting, use (4X) M3 screws to affix assembled power supply to product’s enclosure.
Maximum allowed screw penetration is 3.5mm (0.138 inch).

b. Side mounting, use (2X) M3 screws to affix one side of assembled power supply to the product’s enclosure.
Maximum allowed screw penetration is 3.5mm (0.138 inch).

www.DeltaPSU.com (Oct 2015, Rev. 01)



Medical AC-DC Open Frame Power Supply
Enclosed Cover Kit for MDS-250A and MDS-300A series

B Mechanical drawing

26.5 [1.043]

—
>

N

~

Y 'y

ﬁ 0L LoD

5.0 [0.197]

0L0EcL oS T

e ey = W O )= <\
Wl = =l T L S =l

130.0 [5.118]

5.0 [0.197] _,

88.9 [3.5]

140.0 [5.512]

)
i

= |

' =t = )= )=P) == )= )= () L)

SYLRYHITOSGOSLOD
 B20OCOREOTDEOTOSOEOT,

I.) S226LERadnO-aRaRa=D

— SR eeoEe®

Se2CROL0EBRORARCRCED
B B 108 a(@ ) (e s e laa N
) 0 S o =N N> NSNS =
0 ) B )=y D = = e e D)
DO EEEREES IS
O e e e W = = = =y oy e
O 2RO O AR O ES =D
e e\l e e N 2o N e =) Xe)
(@00 ()l LAY e W Y=y
OLERIROCL0Re OV Pas e
ROCEEEEEaNCLDRelHVPTOa)
DR EEREORSEELOZOY &0
SPE=eBsee=etses-cc— Ve

130.0 [5.118]

44.4 [1.748]

EXTRUDED HOLE M3 x 0.5 (2x)

 DeOEEA0~O~0 O~ 3 ]
BRERAEORODS &
T 10 58260
EA @@@O@@@@%@@OOOO@@ D
g
132.0 [5.197]
(2x)
b g
@ O

www.DeltaPSU.com (Oct 2015, Rev. 01)

MAX PENETRATION BY SCREW:
3.5mm FROM OUTSIDE FACE OF ENCLOSURE

EXTRUDED HOLE M3 x 0.5 (2x)
MAX PENETRATION BY SCREW:
3.5mm FROM OUTSIDE FACE OF ENCLOSURE

EXTRUDED HOLE M3 x 0.5 (4x)
MAX PENETRATION BY SCREW:
3.5mm FROM OUTSIDE FACE OF ENCLOSURE




